S
L

F

* FORCELLA+PERNO
* YOKES+PIN

* 1508133
* MATERIALE ACCIAIO ST 52.3

« 1508133 =
* MATERIAL: ST 52.3 STEEL

F D3
12 10 32 24 19 M2 13 12 6 10 5 8  M5x5
16 12 36 32 21 Mizi25 19 7 8 15 7 125  M5x5
20 14 38 40 21 M14x1,5 19 17 10 11 20 M5x5
F2316 30 20 54 60 32 M16x1,5 32 29 15 15 13 32 MEX6
F2320 30 20 60 60 32 M20.5 32 29 15 15 13 50  M6x6
F2327 40 28 75 80 40 M272 39 34 20 20 17 80 M6x6
F2333 50 36 99 100 56 M332 54 50 25 28 22 125  M8x8
F2342 60 45 113 120 56 M42x2 57 53 30 33 27 200  M8x8
F2348 70 56 126 140 75 M48x2 63 59 35 40 31 320  M8x8
F2364 80 0 168 160 95 M64:3 83 78 40 48 37 500 Mixi2
F2380 80 70 168 160 95 M80x3 83 78 40 48 37 500  Mi2c12
~ N
i 4F
"\ e FORCELLA
| @ “ | o YOKES
uL \ \,/ If 1508133
v , « MATERIALE ACCIAIO ST 52.3
[TJ 1508133
: « MATERIAL: ST 52.3 STEEL
L L

4F2310
4F2312
4F 2314
4F2316
4F 2320
4F 2327
4F 2333
4F 2342
4F2348
4F 2364
4F 2380

12
16
20
30
30
40
50
60
70
80
80

3 D3
10 32 24 19

M10x1,25 13
12 36 32 21 M12x1,25 19
14 38 40 21 M14x1,5 19
20 5 60 32 M16x1,5 32
20 60 60 32 M20x1,5 32
28 75 80 40 M27x2 39
36 9 100 56 M33x2 54
45 113 120 56 Md2x2 57
56 126 140 75 M48x2 63
70 168 160 95 M64:3 83
70 168 160 95 M80x3 83

12 6 10 5 8 M5x5

17

-
~

3 d 8 88 R 33

15
i1
15
15
20
28
33
40
48
48

7

13
13
17
22
27
31
37
37

125
20

E88888s8R

M5x5
M5x5
M6X6
MEx6
M6X6
M8x8
M8x8
M8x8
Mi2x12
M12x12

</ INTERSEAL, S.A.

HIDRAULICA - ESTANQUEIDAD

0.10
0,18
023
0.9
0,91
1,92
492
6,53
10,11
1920
1842

0.10
0,18
0.23
0.9
0,91
1,92
492
6,53
10,11
1920
1842






